SENIOR THREE QUESTIONS
1)Given A = {1, 2, 3, 4, 5}, B = {2, 4, 6} 
Find 
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answer b
2) Convert 
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Answer C

3)Calculate in binary  
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a) 
[image: image11.wmf]11010


b) 
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answer a

4)Simplify       
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a) 
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b) 
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answer  c
5)   Solve  for x    the equation   
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a)-2
b)2

c)3

Answer b

6) Find the gradient of the line’s equation   3x – y = 2 
a)1

b)2

c)3

answer c

7) Find the equation of the line passing through the points (4, 5) and (8, 7).

a) 
[image: image19.wmf]1

3

2

yx

=+


b) 
[image: image20.wmf]1

3

2

yx

=-+


c) 
[image: image21.wmf]1

2

yx

=


answer a

8) Find 
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a) 0.8396

b) 0.9396

c) 1.0036

Answer b

9) Given 
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; find the value of 
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   a) 
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answer c
10) Find two numbers whose sum is 10 and their difference is 4

a) 2 and 8

b) 3 and 7

c) 6 and  4

answer  b
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